C:# Finding Product (3 x 2) Name:

Solve each problem. Answers
1) Gwen was building a LEGO tower. She built it with 316 stories and with 68 blocks on
each story. How many LEGO blocks would she have used? 1.
2.
2) A pallet of toggle bolts weighs 295 kilograms. If a warehouse has 48 pallets, what is their
total weight? 3.
4.
3) A construction crew uses 730 pounds of concrete for each section of a parking garage. If
the garage is going to have 52 sections, how many pounds of concrete will they need? 5.
6.
4) A school bought 601 boxes of computer paper for the computer lab. Each box had 83
sheets of paper inside it. How much paper did they buy total ? 7.
8.
5) A farmer has 954 rows of corn. If he can get 44 ears of corn from each row, how many
ears of corn would he have total ? 9.
10.

6) A school district ordered 293 new science text books. If each text book had 85 pagesin it,
how many pages are there total in al the text books?

7) A lawn mowing company had 251 customers. If each customer paid 35 dollars ayear, how
much money would they make?

8) A golf course driving range goes through 926 golf balls aday. How many golf balls would
they go through in 47 days?

9) Each day the gumball machinein the mall sells 512 gum balls. How many gum balls
would they have sold after 99 days?

10) Thereare 243 hotelsin ahotel chain. If each hotel has 34 rooms, how many rooms are
there total ?
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Ch Finding Product (3 x 2) Name: Answer Key

Solve each problem. Answers
1) Gwen was building a LEGO tower. She built it with 316 stories and with 68 blocks on
each story. How many LEGO blocks would she have used? 1 21,488
2. 14,160
2) A pallet of toggle bolts weighs 295 kilograms. If a warehouse has 48 pallets, what is their
total weight? 3 37,960
4. 49,883
3) A construction crew uses 730 pounds of concrete for each section of a parking garage. If
the garage is going to have 52 sections, how many pounds of concrete will they need? 5. 41,976
6. 24,905
4) A school bought 601 boxes of computer paper for the computer lab. Each box had 83
sheets of paper inside it. How much paper did they buy total ? 7. 8,785
8. 43,522
5) A farmer has 954 rows of corn. If he can get 44 ears of corn from each row, how many
ears of corn would he have total ? 9. 50,688
0. 8,262

6) A school district ordered 293 new science text books. If each text book had 85 pagesin it,
how many pages are there total in al the text books?

7) A lawn mowing company had 251 customers. If each customer paid 35 dollars ayear, how
much money would they make?

8) A golf course driving range goes through 926 golf balls aday. How many golf balls would
they go through in 47 days?

9) Each day the gumball machinein the mall sells 512 gum balls. How many gum balls
would they have sold after 99 days?

10) Thereare 243 hotelsin ahotel chain. If each hotel has 34 rooms, how many rooms are
there total ?
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C:# Finding Product (3 x 2) Name:

Solve each problem. Answers
49,883 41,976 8,262 21,488 37,960
43,522 8,785 14,160 24,905 50,688 1.
1) Gwen was building a LEGO tower. She built it with 316 stories and with 68 blocks on 5
each story. How many LEGO blocks would she have used? '
3.
2) A pallet of toggle bolts weighs 295 kilograms. If awarehouse has 48 pallets, what is their
total weight? 4.
5.
3) A construction crew uses 730 pounds of concrete for each section of a parking garage. If
the garage is going to have 52 sections, how many pounds of concrete will they need? 6.
7.
4) A school bought 601 boxes of computer paper for the computer lab. Each box had 83
sheets of paper inside it. How much paper did they buy total? 8.
9.
5) A farmer has 954 rows of corn. If he can get 44 ears of corn from each row, how many
ears of corn would he have total ? 10

6) A school district ordered 293 new science text books. If each text book had 85 pagesin it,
how many pages are there total in al the text books?

7) A lawn mowing company had 251 customers. If each customer paid 35 dollars a year, how
much money would they make?

8) A golf course driving range goes through 926 golf balls aday. How many golf balls would
they go through in 47 days?

9) Each day the gumball machine in the mall sells 512 gum balls. How many gum balls
would they have sold after 99 days?

10) There are 243 hotelsin ahotel chain. If each hotel has 34 rooms, how many rooms are
there total ?
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